Competition Care

FULL LENGTH TEST-6

1. Which of the following statement is
NOT correct?

a) Albuquerque, the successor of
Almeida, was the real founder of the
Portuguese empire inindia.

b) Albuquerque defeated Yusuf Adil
Khan, the ruler of Bijapur in 1510 and
captured Goa.

c) Albuquerque developed Goa into a
centre of commerce by making all the
ships sail on thatroute.

d) Albuquerque was not in favour of
Europeans marrying Indian women and
settling down inPortuguese controlled

territories.

2. Which of the following is/are impact
made by Portuguese Presence on
Indian Sub-Continent?
i.For the first time in the political
history of India the Europeans
conquered and seized territories

from the Indian rulers.

ii.Indian rulers remained divided and
Europeans took advantage of it.
iii.The Europeans adopted new
methods in the warfare, gun
powder and superior artillery
played a significant role.
Choose the correct answer from below
given codes:
a)ionly
b) i and ii only
c) ii and iii only
d) i, i and iii

3. The famous Army officer “Robert
Clive” was related to which of the
following?

a) The British

b) The Dutch

c) The French

d) The Portuguese



4. The famous “Treaty of Allahabad”
was related to which of the following?

a) The third carnatic war

b) The Battle of Plassey

c) The Battle of Buxar

d) The Battle of San Thome

5. Which of the following provision/s
is/are resulted after battle of Buxar?
i.The emperor granted the
revenue  administration of
Bengal, Bihar and Orissa to the
Company.
ii.The emperor Shah Alam Il was
to get the districts of Allahabad
and Kora,besides an annual
allowance of 26 lakhs of
rupees.
iii.The province of Oudh was
restored to Shuja-ud-daula on
the payment of war indemnity.
Choose the correct answer from below
given codes:
a)ionly
b) i and ii only
c) ii and iii only
d) i, ii and iii

6. Consider the following statements
regarding Regulating Act, 1773:
I.The Act imposed on the court of
Directors the legal obligation of
informing all revenuetransactions
of the Company servants to the
British Treasury.
i.The Governor and Council
consisting of the Commander-in-
Chief and two counselors sat asa
Board of Revenue which discussed
revenue matters.
Which of the statements given above
is/are correct?
a)ionly
b) ii only
c) Both i and ii
d) Neither i nor ii

7. Consider the following statements
regarding Permanent Settlement:

i. Settlement  refers to  the
assessment and fixing of the
guantum of land revenue to be
paid by each tenant directly to the
government.

ii. For Bengal, Bihar and Orissa, this

was fixed permanently.



Which of the statements given above
is/are correct?

a)ionly

b) ii only

c) Bothiandii

d) Neither i nor ii

8. Consider the following statements

regarding “Mahalwari settlement
system”:
i.It was introduced in 1833 during
the period of William Hastings.
i.Under the system the revenue
settlement was made with the
proprietor of the estate but the
land revenue was collected from
individual cultivators.
Which of the statements given above
is/are correct?
a)ionly
b) ii only
c) Both i and ii
d) Neither i nor ii

9. Consider the following statements

regarding  “Ryotwari  settlement

system”:

It was formulated by
Governor Thomas Munro.

i.Under the system, the

peasant was entitled to

possession of land so long

as he paid the land revenue.

Which of the statements given above

is/are NOT correct?

a) ionly
b) ii only
c) Bothiandii

d) Neitherinorii

10.Who among the following was
introduced the “Subsidiary Alliance
System”?

a) Thomas Munro

b) William Bentinck

c) Governor General Wellesley

d) Warren Hastings

11.Consider the following statements:

i. Grey water is defined as
wastewater that IS
produced from household
processes.

i. Grey water can contain
harmful bacteria and even

fecal matter that



contaminates soil and

groundwater.

Which of the statements given above

is/are correct?

a) ionly
b) ii only
c) Bothiandii

d) Neitherinorii

12.The “Lakhpati Didi initiative” is often
seen in news related to?

a) Ayushman Bharat scheme

b) Self Help Groups

¢) Financial inclusion

d) Zero budget farming

13.Which of the following river(s) is/are
left side tributaries of the
Brahmaputra River?
i. Dibang River
ii.  Subansiri River
iii.  Kopili River
Select the correct answer using the

code given below:

a) ionly

b) ii only

c) iandiii
d) i, ii and iii

14.Consider the following statements
regarding the Majuli Island:

I.  Majuli Island is largest river island
in world and first island district of
the country.

ii. Itis formed by Brahmaputra River
in south and KherkutiaXuti,
another branch of Brahmaputra,
joined by Dihang River in north.

iii.  The island is inhabited by Mising
tribes, Deori and Sonowal Kachri

tribes.

Which of the statements given above

is/are correct?

a) ionly
b) ii only
c) iand iii
d) i, ii and iii

15.With reference to the sub-tropical

high pressure belt, consider the
following statements

i. It is affected by Earth’s rotation

and descent of winds from higher

altitudes



ii. It dynamically induced and
characterized with anti-cyclonic

conditions.

Which of the statement/ statements

given above is/are correct?

a) Bothiandii
b) ionly
c) iionly

d) Neitherinorii

16.With reference to millets, which of
the following statements is/are
correct?
i. India is the largest producer and
exporter of millets in the world.
i. Ragi is the highest produced

millet in India.

Select the correct answer using the

code given below:

a) ionly
b) ii only
c) Bothiandii

d) Neither i nor ii

17.With respect to the Capital Adequacy
Ratio (CAR), consider the following
statements:

i. The CAR is the ratio of a
bank’sregulatory capital to
risk weighted assets.

i. The CAR
Additional Tier-1 Bonds
with the banks.

excludes

iii. The RBI has mandated a
higher capital ratio than
what is required by the

Basel Il norms.

Which of the statements given above

is/are correct?

a) iii only
b) iand ii only
c) iandiii only

d) i, ii and iii

18.With reference to sugar production
and trade in India, consider the
following statements:

I. ~ Tamil Nadu has emerged as the
highest sugar producing state
in the recent years.

ii. The yield levels of sugarcane
are higher in the southern

states than northern India.



iii.  The value of sugar exports from
India has seen a continuous

increase in the last five years.

Which of the statements given above

are incorrect?

a) iandiionly
b) ii and iii only
c) iand iii only
d) i, ii and iii

19.With reference to fertilizers, which of
the following statements is/are
correct?

i.  Organic and bio-fertilizers
are outside the purview of
regulation of the state.

ii. The Fertlizer (Control)
Order of 1985 does not list
some bio and organic
fertilizers prepared from

livestock waste.

Select the correct answer using the

code given below:

a) i only

b) ii only

c) Bothiand i
d) Neither i nor ii

20.With reference to the ‘MSME
Competitive (LEAN) Scheme’, which
of the following statements is/are
correct?

i.  All MSMEs, registered with
the UDYAM registration
portal, are eligible to
participate in the Scheme.

ii. To support the MSMEs,
the government will
contribute 75% of the
implementation cost for
hand-holding and
consultancy fees.

iii. There are three levels in
the MSME Competitive
(LEAN) Scheme.

Select the correct answer using the

code given below:

a) ii only
b) iii only
c) i and iii only

d) ii and iii only

21.Which national park in Assam is
recognized as a UNESCO World
Heritage Site and is home to the
largest population of the wild water
buffalo?



a) Manas National Park

b) Dibru-Saikhowa National Park

c) Kaziranga National Park

d) Rajiv Gandhi Orang National Park

22.Which of the following national
parksin Assam is well known for the
conservation of Pygmy Hog?

a) Orang National Park

b) Kaziranga National Park

c) Manas National Park

d) Dibru-Saikhowa National Park

23.The Jeypore Rainforest in Assam is
part of which larger biodiversity
hotspot in India?

a) Western Ghats

b) Eastern Ghats

c) Himalayas

d) Sundarbans

24.Which of the following is a
community-managed wildlife
sanctuary in Assam, known for its
successful  conservation  model
involving local communities?

a) Pobitora Wildlife Sanctuary

b) Bura-Chapori Wildlife Sanctuary

c) Chakrashila Wildlife Sanctuary
d) Borail Wildlife Sanctuary

25.Which of the following is a
designated tiger reserve in Assam,
known for its successful conservation
efforts for Bengal tigers?

a) Manas Tiger Reserve

b) Dibru-Saikhowa Tiger Reserve

c) Kaziranga Tiger Reserve

d) Nameri Tiger Reserve

26.Which national park in Assam is
recognized as both a UNESCO
World Heritage Site and a tiger
reserve, playing a crucial role in the
conservation of the Indian one-
horned rhinoceros as well?

a) Dibru-Saikhowa National Park

b) Orang National Park

c) Kaziranga National Park

d) Manas National Park

27.The Laokhowa Wildlife Sanctuary is
located in which district of Assam?

a) Dibrugarh

b) Jorhat

c) Nagaon



d) Golaghat

28.Consider the following assertions
regarding the Bhabar-Tarai region in
Assam:

i. This region is primarily
found in Assam's northern
districts.

ii. The Manas National Park
is located within this

region.

Which of the above statements is/are

correct?

a) Only statement i
b) Only statement ii
c) Both statements

d) Neither statement

29.Which tree is predominant in the
forests of Assam?

a) Teak

b) Mango

c) Sal

d) Eucalyptus

30.Which northeastern state is known

as the Jewel of India?

a) Mizoram
b) Nagaland
c) Manipur
d) Sikkim

31.What is the highest-tier of the

Panchayat system in  Assam,
responsible for overseeing the
functioning of all Gram Panchayats
in a district?

a) Gram Panchayat

b) Anchalik Panchayat

c) Zila Parishad

d) Panchayat Samiti

32.What is the

qualification for contesting the

minimum  age

election for the position of a
Panchayat member in Assam?

a) 18 years

b) 21 years

c) 25years

d) 30years

33.Under the Panchayati Raj system in
Assam, which  committee s

responsible for preparing the



development plan at the Gram
Panchayat level?

a) Finance Committee

b) Planning Committee

c) Development Committee

d) Executive Committee

34.What is the role of the Panchayat
Samiti  in Assam within the
Panchayati Raj system?

a) Implementing development schemes
at the village level

b) Coordinating activites of Gram
Panchayats in a block

c) Formulating policies for rural

development

d) Overseeing law and order in villages

35.What is the tenure of the elected
members of the Zila Parishad in
Assam?

a) 2years

b) 3years

c) 4 years

d) 5years

36.What is the population size of Assam

according to the 2011 census?

a) 31 million
b) 30 million
c) 35 million

d) None of the above

37.Assam stands in which number
among northeastern states (area
wise)?

a) First

b) Second

c) Third

d) Fourth

38.How many districts are there in the
Barak Valley?

a) Three

b) Five

c) Four

d) One

39.Which river in Assam is dammed by
the Doyang Hydroelectric Plant?

a) Brahmaputra River

b) Barak River

c) Subansiri River

d) Kopili River



40.The Karbi Langpi Dam is located on
which river in Assam?

a) Manas River

b) Doyang River

c) Dhansiri River

d) Kopili River

41.The Pare Hydroelectric Plant,
located in Arunachal Pradesh, is a
joint project with Assam and is
constructed on which river?

a) Dibang River

b) Lohit River

c) Subansiri River

d) Kameng River

42.Evaluate these statements regarding
the Asom Darshan scheme:

i. The scheme focuses on
the development of tourist
spots and religious places
of all faiths.

ii. Rs.10 Lakh is allocated for

infrastructure development

to each religious
institution.
iii. Road connectivity

improvement is an integral

part of the scheme with a
budget of Rs. 614 Crore.
What is the correct combination of
statements?
a) Onlyiand ii are correct
b) Only i and iii are correct
c) Only ii and iii are correct

d) All statements are correct

43.The Bogibeel Bridge, one of the
longest rail-cum-road bridges in
India, spans which river in Assam?

a) Barak River

b) Subansiri River

c) Lohit River

d) Dibang River

44.Which is the largest district in
Assam?

a) Sonitpur

b) Goalpara

c) Karbi Anglong

d) Dhubri

45.Which district is located in between
the plateau region in Assam?
a) Nagaon

b) Dima Hasao



c) Hojai
d) Morigaon

46.What is the total area of the
Brahmaputra Valley?

a) 58,412 sq km

b) 58,000 sq km

c) 58,500 sg km

d) 58,315 sg km

47.Which one of the following is known
as the Amazon of the East?

a) Dibru-Saikhowa NP

b) Gibbon WLS

c) Dehing-Patkai

d) Nameri NP

48.Which districts in Assam have major
limestone reserves?

a) Goalpara & Bongaigaon

b) Jorhat and Golaghat

c) Dima Hasao and Karbi Anglong

d) Cachar and Karimgan;

49.Which  of the following river
originates from the Naga Hills?

a) Kameng

b) Subansiri
c) Bhogdoi

d) None of these

50.The governor of which state has
been vested with special powers
regarding ST areas

a) Arunachal Pradesh

b) Assam

c) Maharashtra

d) Both a and b

51.With respect to Lok Adalats, consider
the following statements:

i. It has been given statutory
status under the Legal
Services Authorities Act, 1987.

ii. The award by the Lok Adalat is
not binding and it is
appealable.

iii.  There is no strict application of
procedural laws like the Civil
Procedure Code and the
Evidence Act while assessing
the claim by Lok Adalat.

Which of the statements given above
are correct?
a) i and iii only

b) ii and iii only



c) iandii only
d) i, it and iii

52.With  reference to Citizenship
(Amendment), Act 2019, consider
the following statements:

i. It provides Indian citizenship to
the illegal migrants who entered
India on or before 31st December
2010.

ii. The Act does not apply to tribal
areas of North East states
mentioned in the sixth schedule
of the Constitution.

Which of the statements given above
is/are correct?

a) ionly

b) ii only

c) Bothiand ii

d) Neither i nor ii

53.Which of the following steps can be
taken to secure consumer Internet of
Things (1oT)?
i. All 10T device default passwords
shall be unique per device.
ii. Principle of least privilege needs

to be avoided.

lii. Installation and maintenance of
IoT devices should employ minimal
steps.

Select the correct answer using code
given below.

a) i and ii only

b) ii and iii only

c) i and iii only

d) i, i and iii

54.In the context of the Indian

Constitution, consider the following

statements:

I.  The term "minority" is defined in
Article 30 of the Indian
Constitution.

ii. Under Article 28,

permitted in

religious

instruction  is

educational institutions
established under any
endowment or trust and
administered by the state.

iii. Article 29 grants protection only

to linguistic minorities.

Which of the statements given above

is/are correct?

a) i only

b) i and ii only

c) i only

d) iii only



55.Which of the following terms were
not a part of the original
constitution?
i.  Secular
ii. Democratic
iii.  Integrity
iv.  Fraternity
Select the correct answer using the
code given below.
a) ii and iv only
b) i and iv only
c) i and iii only

d) i, ii, iii and iv

56.Consider the following statements
regarding citizenship in India:
I. Citizenship is listed in the Union
List under the Constitution.

ii. The term "citizen" is not defined
in the Constitution.

iii. The concept of single citizenship
is adopted from the Canadian
Constitution.

Which of the statement given above
is/are correct?

a) i and ii only

b) ii only

c) iii only

d) i and iii only

57.Consider the following statements
concerning the constituent assembly
in India:
i. The

established seven committees to

Constituent Assembly

draft the constitution.

ii. Congress party officially

demanded a constituent

assembly in the 1929 Lahore
Session.

iii. The British accepted in principle
the demand of a constituent
assembly in the
Cabinet Mission Plan.

Which of the statements given above
is/are correct?

a) i only

b) iii only

c) i and ii only

d) None

58.The 7th Constitutional Amendment
Act, 1956, and the States
Reorganisation Act, 1956 were
enacted based on the
recommendation of which of the
following committees?

a) Dhar Commission

b) JVP Committee

c) Fazl Ali Commission



d) J.C. Shah Commission

59.The objective of the Government of
India Act, 1915 was to:

a) increase the number of non-official
members in the Central Legislative
Assembly.

b) lay the foundation of a representative
and popular government in India.

c) consolidate all the preceding acts of
Parliament concerning British India.

d) consolidate all the ordinances passed
by the Governor-General of India

related to national security.

60.Consider the following statements
with respect to the right to education
in the Indian Constitution:

i. The 92nd
Amendment made the Right to

Constitution

Education a fundamental right.
ii. Article 21A of the Constitution
guarantees the right to receive
education in the mother
tongue.
Which of the statements given above
is/are correct?

a) ionly

b) ii only
c) Bothiand ii

d) Neither i nor ii

61.Consider the following statements
regarding Article 15 (Right to
Equality) of the Indian Constitution:

i. It prohibits the State from
discriminating against any citizen
on the basis of place of
residence.

ii. Under this article, the State has
been empowered to make special
provisions
for women and children.

iii. It allows the State to make any
special provision regarding
minority educational institutions.

Which of the statements given above
is/are correct?

a) i only

b) iii only

c) i and ii only

d) i and iii only



62.Which one of the following group of
languages are included in the Eighth
Schedule of the Constitution of
India?

a) English, Hindi, Dogri and Sanskrit

b) Sanskrit, Telugu, Kannada and Hindi

¢) Hindi, Kashmiri, Manipuri and English

d) Tulu, Tamil, Malayalam and Kannada

63.Consider the following statements
with reference to Subordinate Courts
in India:

I They have uniform
organizational structure and jurisdiction
throughout India.

ii. Sessions court has power to
impose sentence up to life imprisonment
but not capital punishment.

Which of the statements given above
is/are correct?

a) ionly

b) ii only

c) Bothiand ii

d) Neither i nor ii

64.Consider the following features:
i. Stable government

ii. Prevent autocracy

lii. Narrow representation
Which of the above features will be a
benefit after adopting the presidential
system in India?
a) i and ii only
b) ii and iii only
c) i only
d) i, i and iii

65. With reference to Article 16, consider
the following statements:

i. It is confined to appointment to
an office ‘under the state’.

ii. Under this Article, the state
cannot grant reservations in the
promotion.

Which of the statements given above
is/are correct?

a) i only

b) ii only

c) Bothiand i

d) Neither i nor ii

66.With reference to Karewas formation,
which of the following statements is
correct?

a) They are found in the north eastern

region of India.



b) They are thick deposits of alluvial
deposits brought down by the rivers.

c) They are useful for the cultivation of
zafran a local variety of saffron.

d) All of the statements given above are

correct.

67.Which of the following UNESCO
Biosphere Reserve is the source of
three major river systems: the
Narmada, the Johilla and the Son
River?

a) Pachmarhi

b) Achanakmar-Amarkantak

c) Agasthyamalai

d) Similipal

68. Consider the following statements on
Forest  (Conservation)Amendment
Bill, 2023.

I.The bill aims to build forest
carbon stock by raising
plantations.

ii.It aims to provide developers with
land so they can fulfil their legal

duty to plant trees as

compensation for diverting forest
land for development projects.
Choose the correct answer
a) Onlyi
b) Only i
c) Bothiandii

d) Neitherinorii

69.With reference to the Earth’s crust,
which of the following statements
is/are not correct?
i. It is the outer thin layer with a
thickness of up to 200 km.
ii. The continental crust is formed by
basaltic rocks.
iii. The ocean floors are formed by

granitic rocks.

Select the correct answer using the

code given below.

a) ionly

b) iand ii only
c) iiand iii only
d) i, ii and iii

70.Consider the following statements:
i. Spherical shape of other planetary
bodies.



ii. Different time of sunrise and
sunset at different places.
iii. Shadow of earth on moon during

lunar eclipse.

Which of the statements given above

provide evidence for Earth's sphericity?

a) ionly

b) iand iii only

c) iiand iii only

d) i, ii and iii

71.With reference  to meanders,

consider the following statements:

i. They are a channel pattern
frequently associated with a
river in the young stage.

ii. Jhelum forms a meander near

Srinagar in its youthful stage.

Which of the statements given above

is/are correct?

a) ionly
b) ii only
c) Bothiandii

d) Neither i nor ii

72.Consider the following statements
regarding Continental Shelves:

i. They are the sites of major fishing
grounds.

ii. They contain valuable resources,
such as oil and gas and
minerals.

iii. Trenches occur at the base of

Continental shelves.

Which of the statements given above

are correct?

a) iand ii only

b) ii and iii only
c) i, ii and iii
d) iand iii only

73.'Duns’ or 'Doons' formations are the
characteristic feature of which part of
the Himalayas?

a) Darjeeling and Sikkim Himalayas

b) Arunachal Himalayas

c) Eastern Hills and Mountains

d) Himachal and Uttaranchal Himalayas

74.Which of the following can be

attributed to the passing of Tropic of



Cancer roughly through the central
part of India?

i.As compared to northern India,
southern India experiences high
temperatures throughout the vyear
with small daily and annual range.
ii.Entire India observes overhead sun
on the summer solstice of the

northern hemisphere.

Select the correct answer using the

code given below.

a) ionly
b) ii only
c) Bothiandii

d) Neitherinorii

75.With reference to the Solar system,
which of the following statements
is/are correct?
i. All planets orbit around the sun in
counter-clockwise direction.
ii. All other planets have density less
than that of Earth.
iii. All planets have at least one natural

satellite.

Select the correct answer using the

code given below.

a) iandiionly

b) iand iii only
c) iionly
d) ii and iii only

76.Consider the following local winds:
i. Sirocco.
ii. Mistral.
lii. Foehn.
iv. Chinook

Which of the winds mentioned above
blow over the temperate continental

climate?

a) iii and iv only

b) ii and iii only
c) i,iiand iv only
d) i, ii, iiiand iv

77.Which of the following reasons may
be attributed to excessive cold in
North India during the winter
season?
i. Continentality of the north Indian
region.
ii. Snowfall in the Himalayan ranges.
iii. Cold winds coming from the

Caspian Sea



Select the correct answer using the
code given below.

a) iandiionly

b) ii and iii only
c) i, iiandiii
d) ionly

78.Amrit Bharat Station Scheme aims to

a) Redevelop about 1, 275 railway
stations across India

b) Enhance facilities at railway stations

c) Relocate redundant/old buildings in a
cost- efficient manner

d) All of the above

79.Consider the following statements
about the Lakshadweep group of
islands:
i. They are made up of coral deposits.
ii. They are located off the coast of
Tamil Nadu.
iii. These islands are divided by the 10-

degree channel.

Which of the statements given above

is/are not correct?

a) ionly

b) ii only
c) iandiionly

d) ii and iii only

80.Consider the following statements:
I. Equator passes through the Asian
continent.
ii. No Indian rivers pass through the

Tropic of Cancer twice.

Which of the statements given above

is/are correct?

a) ionly
b) ii only
c) Bothiandii

d) Neither 1 nor ii

81.Which of the following is/are
initiative/s taken by the government
to develop infrastructure?
i.  Public-Private Partnership (PPP)
ii. National Infrastructure Pipeline
(NIP)
iii. National Monetisation Pipeline
(NMP)
Choose the correct answer from below
given codes:
a) ionly

b) iandiionly



c) iiand iii only

d) i, ii and iii

82.Which of the

developed/launched the

following is
Unified
Payment Interface (UPI)?

a) Reserve Bank of India

b) National Payments Corporation of
India International

c) SIDBI

d) IBBI

83.Which of the following is/are
investment model/s of Public -
Private — Partnership?

i.  Build-Operate-Transfer
ii. Rehabilitate-Operate-Transfer

iii.  Toll-Operate-Transfer

Choose the correct answer from below

given codes:
a) ionly
b) iandiionly

c) ii and iii only

d) i, iiandiii

84.Under which of the following
agreement/s/convention/s, the
geographical  indication/s is/are
covered?

i.  Geographical Indications  of

Goods (Registration & Protection)

Act, 1999.

ii. Paris Convention for the

Protection of Industrial Property.

iii. Trade Related Aspects of

Intellectual Property Rights
(TRIPS) Agreement.

Choose the correct answer from below

given codes:
a) ionly
b) iand ii only

c) ii andiii only

d) i, iiandiii

85.Which of the following initiative/s
is/are taken by the government to
promote infrastructure in India?
i. Ude Desh ka Aam Nagrik
(UDAN)
ii. Single Window Interface for
Trade (SWIFT)
iii.  Turant Customs

Choose the correct answer from below

given codes:



a) ionly
b) iand ii only
c) ii andiii only

d) i, iiandiii

86.“Logistics Performance Index (LPI)”
is often seen in news is
released/published by which of the
following?

a) UNCTAD

b) WEF
c) World Bank
d) IMF

87.“PM-KUSUM” is often seen in news
is related to which of the following?
a) Renewable Energy

b) Agricultural Marketing
c) Fuel wood free homes

d) Cement road villages

88.Consider the following statements
regarding “Open Network for Digital
Commerce (ONDC)™:

i In the ONDC

consumers can

framework,
potentially
discover any seller, product, or
service by using any compatible

application or platform.

ii. It will increase the freedom of
choice for the consumers and will
enable them to match demand
with the nearest available supply,
allowing them to choose their
preferred local businesses.

Which of the statements given above

is/are correct?

a) ionly
b) ii only
c) Bothiandii

d) Neitherinorii

89.Consider the following statements
regarding “PM KISAN Scheme”:

i. Itis a Central Sector Scheme to

supplement the financial needs of

land-holding farmers.

ii. The financial benefit of ¥10,000
per year is transferred into the
bank accounts of farmer families
through DBT.

Which of the statements given above

is/are correct?



a) ionly
b) ii only
c) Bothiandii

d) Neitherinorii

90.Which of the following is/are
parameter/s of Human Development
Index?

i. Life expectancy
ii.  Education

iii. Sustainable development

Choose the correct answer from below

given codes:
a) ionly
b) iand ii only

c) iiand iii only

d) i, iiandiii

91.Which of the following areal/s is/are
covered under Global Gender Gap
Index?

i.  Political Empowerment

ii. Economic  Participation and

Opportunity
iil. Health and Survival
Choose the correct answer from below

given codes:

a) ionly
b) iand ii only
c) iiandiii only

d) i, ii and iii

92.Which of the following parameter/s
is/are consider under “SDG India
Index”?

i.  Economic growth
ii. Health
iii.  Education

Choose the correct answer from below

given codes:
a) ionly
b) iand ii only

c) iiand iii only

d) i, ii and iii

93.“eShram portal” is often seen in
news is related to?

a) Sustainable development
b) Solar Energy
c) Unorganized workers

d) Highway tolls



94.Consider the following statements

regarding “Pradhan Mantri Vaya
Vandana Yojana (PMVVY)”:

i. Itis offered by the Life Insurance

Corporation of India and

supported by the Government of

India.

ii. It provides senior citizens of age
60 years or more an assured
minimum pension for a term of 10
years.

Which of the statements given above

is/are correct?

a) ionly
b) ii only
c) Bothiandii

d) Neitherinorii

95.Which of the following sector/s can
avail the loan/credit under Pradhan
Mantri Mudra Yojana (PMMY)?
i.  Manufacturing
ii.  Trading
iii.  Services

Choose the correct answer from below

given codes:
a) ionly
b) iandiionly

c) iiand iii only

d) i, iiand iii

96.Consider the following statements
regarding “Mission Amrit Sarovar”:
I. It was launched on National
Panchayati Raj Day on 24 April
2022.

i. It is aimed at developing and
rejuvenating 75 water bodies in
each district of the country during
this Amrit Varsh, 75th Years of
Independence.

Which of the statements given above

is/are correct?

a) ionly
b) ii only
c) Bothiandii

d) Neitherinorii

97.Consider the following statements
regarding “JALDOOT App”:
i. It was launched to measure the
water level in Gram Panchayat
and Urban Municipal areas.

ii.  Gram Rojgar Sahayak is required
to measure the water level and

document the same at the



Central server using the Jaldoot
mobile app.
Which of the statements given above

is/are correct?

a) ionly
b) ii only
c) Bothiandii

d) Neither i nor ii

98. “SAUBHAGYA scheme” is often
seen in news is related to?

a) Household electrification
b) Widow shelter homes
c) Old age shelter homes

d) Girls hostels

99.Which of the following pairs are
correctly matched?
i.  Bitcoin National Stock Exchange
ii.  Moody’s Credit Rating
ili. Special Drawing Rights World
Bank
iv. FRBM Act Fiscal Deficit
Select the correct answer using the
codes given below:
a) Only one Pair

b) Only two pairs

c) Only Three pairs
d) All four pairs

100. A country is said to be in debt trap
if:

a) It has to abide by the conditionality
imposed by the International
Monetary Funds.

b) It is required to borrow money to
make interest payments  on
outstanding loans.

c) It has been refused loans or aide by
creditors.

d) The World Bank charges a very high
rate of interest on outstanding as

well as new loans.



